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General Instructions ;-
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Question No. 1 to 8 are very short answer type questions. Each
question carries 1 mark.
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Question No. 9 to 12 are short answer type questions. Each
question carries 3 marks. Maximum word limit of answer is

50 words.

(i) FETFAIS 13 A 18 7 A I T &) TIH TH W4 3 JyEfed
¥ v v i iR Rweq f) Inct rftraan weg @ 75 161 3
Question No. 13 to 18 are long answer type questions. Each

question carries 4 marks. Each question has internal choice.
Maximum word limit of answer is 75 words.

(iv) SIS 19 Q 24 o O 3907 ¥ & TAT TH W 6 I ATdfed
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Question No. 19 to 24 are long answer type questions. Each
question carries 6 marks. Each question has internal choice. |
Maximum word limit of answer is 250 words.

(3t g I 9H)
(Very Short Answer Type Questions)

-1 @ R [
What is budget line?
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U2 SR IR T A R
What is meant by local market?

aya-3  faesh fRfrm wa ardE e s 1]
Which bank controls foreign exchange?

UH4 T R AN R i
What is meant by paper money?

U5 ITHeqd W Jgrer ey (FE S (Y%
Write the examples of Indirect tax. (any two) =1l

qFA-6  TSIRINIE H1e | 1 AP 82 1
What is meant by revenue deficit?

-7 Yeiud 9o e wma &2 1]
What is managed floating exchange rate?

UH-8 TR A R? 1]
What is meant by visible items?
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(Short Answer Type Questions)
w9 A dd e, o Y it Jear ST A A § 3]
I T HIHi STE S P, srafd s s &
T TR R A far man @ £ o S [
Lem | dwasaR

1 2

2 3

3 4

4 425

5 4

6 3.5

The following table gives the average product schedule of
labour. Find the total product and marginal product
schedules. It is given that the total product is zero at zero

level of labour employment.

Labour Average Product (AP,)
2

3

4

1
2
3
a 425
5
6

3.5
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UW-10 99 & AR T 19 1 Frffaor fiforg @i i) [1+1+1
Classify the market on the basis of time. (any three) =3]
wA-11  Acafaeh i o1 QT O 1T F9T9 93T 82 [1%+1%
What is the effect of excessive demand on employment? =3]
q9-12 0 & I SO F FAITEE P 9agd [141+1
What is the Psychological law of consumption function =3]
by Keynes?
CREELCE D))
(Long Answer Type Questions)
w13 FReh R e mniie w0 A SR # Ry [1+1+1+
@ TR 1=4]
Write the factors affecting the foreign exchange rate.
(any four)
o
OR
IR HeH W@ A dqer 7 IR il @ 9m)
Distinguish between Balance of Trade and Balance of
Payment. (any four)
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gHA
a¥-14 fﬁﬂﬂ%ﬁhalf$ﬂ$ﬁQﬂﬂﬂﬂtﬂtﬂﬂﬁ?ﬂﬁﬁqaanaaﬂT
e 3eTE 1 0T HfY .
(i) IR A T I 3000
(if) T T T I 13500

(i) ST T e A A I 1500
(iv) Fraffta sl @ da=i w1 I 1000
(v) T g  Harsdl BT 800

Calculate the Gross National Product and Gross
Domestic Products with the help of following data.

Expenditure (% in crores)
(i) Production of consumer goods 5000
(ii) Production of capital goods 3500

(ii1) Production of consumer and

capital goods 1500

(iv) Price of exported goods and services 1000
(v) Pnce of imported goods and services 800

RYqQr
OR

[2+2=4)
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fr=ifea st @ sy fafa @ =g Rl gro ot s it [4]

e Hifsg
73 T (FS H)
() IFTITA 4000
(i) femtrr 700
(i) _m 1300
(iv) = | 500
(v) STy 4000
(vi) Tt ey fafaim 1500
(vii) Y= fadeft fafrr 1000

Based on the following data calculate National Income
by Income Method and expenditure method.

Items Rs. (in crore)
(i) Salaries and wages 4000
(it) Rent 700
(iii) Profit 1300
(iv) Interest 500
(v) Consumption expenditure 4000
(vi) Gross domestic investment 1500
(vii) Net foreign investment 1000

L~ " T.O.
A AR ] R o

https://www.cg boardonline.com



(8)

UYA-15 AU a9 S JEawHar [ gidt &7

Why do we need government budget?
HIJQT
OR

T T el i e g @ =0

Write the difference between Revenue Expenditure and

Capital Expenditure. (any four)

16 0 Frveer 3 ST "o & ged & fafag @

=-17

RLLY
Write the importance of concepts of revenue in price
analysis. (any four)
JHaql
OR

fret A & Raditer @ § IR faflag @i 9n)

Distinguish between fixed cost and vanable cost. (any
four)

reafa® e U Ao U § Jat oe
Hfag @ =9R)

Explain the difference between real economics and
Normative economics. {any four)

JFaar
OR

[1+1+1+

1=4|

[1+1414
1=4|

[141+1+
1=4]
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Y AR AUAIEIT qGT A HLqTEDT ] Il

e g @i =m)

Distinguish between a centrally planned economy and
market economy. (any four)

TA-18 ST RT3 et gL & Ferg gora Ay [1+1+1+
(@3 9N 1=4]
Give suggestions for the improvement of commercial
banks. (any four)
Fua
OR
T =8 51 9ard & 7T feifag
Wirite the merits of a good money maternial.
CRESIDE )
(Long Answer Type Questions)
neR-19 3 U Ftor & vorrard frwa Sk f s [1+1+1+
frezia & s oy fifvg @8 S) 1+1+
Explain the difference between the classical theory =6]

and Keynes’s theory in determining income and
employment. (any six)
AT
OR
3Tt R Y di w0 & I g (@ 9)

Write the measures to correct deficient demand. (any six)
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T¥-20 ﬁﬁmmﬁmmmmawm [1+1+1+

T-21

@S 32) 1+1+1
Explain the factors affecting the price elasticity of supply. =6]
(any six)
AYTGT
OR

Ty gr B A @ F FRON H TRRY (B D)

Explain the causes of implementation of law of
diminishing returns. (any six)

T T (SR ) Y TR T YR g [1%+1%

HIERY +1Yat1'A
Explain indifference curve with the help of table and =6]
diagram. https://www.cgboardonline.com
HAGDT
OR

<ficr SRR et st R 3 e e i T
i & g WHERY

Explain the relationship between marginal utility and
total utility with the help of table and diagram.
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w¥i-22

W & T AT A AT A AR Al sy wereat [1+141+

- & ¥ fafey @FE ) 1+1+1

Write what are the main difficulties faced while =6l

calculating the national income in India? (any six)
HEqT

OR
T T 1 e R (@ )

Write the importance of national income. (any six)

W23 T o Al & <t e Y 3R T e 82 [1+1+14

Why does the demand curve slopes downward from left 1+1+1
to right? =6]
- 3roraT

OR

S s Rt (@ )

Write the assumption of consumer equilibrium. (any six)

i & G e T NI INE Rar @ [3+3=6]
FUULELER
What is the effect of change in demand on equilibrium
price? Explain with diagram.
QT
OR
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qor sfcrtfivar 3 s Frafor & drar @ YR e [1+1+14+
qUFTEY | 1+1+1
How is price determined under perfect competition? =6)
Explain with diagram.
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